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No.0 +269.6 22.90] 34.90 99.05. 2,268.25 0.00) 0.00 0.00 7.20) 21.20: 485.48 0.00 0.00) 0.00! 0.00 2.25 51.53] 0.00} 4.05 92.75 0.00) 7.75] 177.48
At 27,394.76) 297.94 2,770.64 105.85 619.28 1,891.85' 2,242.18
27,394.76 + 1.25 = 21,915.81
R6
ER &t 9+ (BIEt) PR KAk (FH=850.00) KT Bk (FH=855.00) KBk (FH=860.00)
= 77 A0 fitd Wi E FHETE | EI(m3) Wi E FHWTE | HH(m3) | HRER TR @i (m2) ER FHR EHi(m2) & FHR Efi(m2) & FHaR Efi(m2) & R @i (m2)
+151.5 0.00) 0.00] 0.00 0.00) 0.00) 0.00 0.00 0.00) 0.00 0.00 0.00 0.00) 0.00! 0.00 0.00 0.00) 0.00] 0.00 0.00 0.00) 0.00] 0.00
No.0 +173.0 21.50] 37.50 18.75 403.13] 0.00) 0.00 0.00 3.10) 1.55 33.33 0.00 0.00) 0.00! 0.00 0.00 0.00) 24.10 12.05 259.08 0.00) 0.00] 0.00
No.0 +194.7 21.70] 51.30 44.40 963.48 0.00) 0.00 0.00 3.10) 3.10 67.27 0.00 0.00) 0.00! 0.00 0.00 0.00) 30.80 27.45 595.67 0.00) 0.00] 0.00
No.0 +212.7 18.00] 34.70 43.00 774.00 0.00) 0.00 0.00 3.10) 3.10 55.80! 0.00 0.00) 0.00! 0.00 0.00 0.00) 19.80] 25.30. 455.40 0.00) 0.00] 0.00
No.0 +221.7 15.00] 28.90 31.80: 477.00] 0.00) 0.00 0.00 3.10) 3.10 46.50: 0.00 0.00) 0.00! 0.00 0.00 0.00) 15.50] 17.65 264.75 0.00) 0.00] 0.00
No.0 +246.7 19.00] 15.20] 22.05 418.95] 0.00) 0.00 0.00 3.10) 3.10 58.90. 0.00 0.00) 0.00! 0.00 0.00 0.00) 8.10] 11.80 224.20 0.00) 0.00] 0.00
No.0 +269.6 22.90] 0.00] 7.60 174.04 0.00) 0.00 0.00 0.00) 1.55 35.50: 0.00 0.00) 0.00! 0.00 0.00 0.00) 0.00] 4.05 92.75 0.00) 0.00] 0.00
Ea 3,210.60 0.00 297.30 0.00! 0.00) 1,891.85! 0.00
3,210.60 + 1.25 = 2,568.48
R6LIBETX L 8
EH &t 9+ (BIEt) ] KA (FH=850.00) KT Bk (FH=855.00) KT Bk (FH=860.00)
= 7720 fitd Wi E FiiiE | H#(m3) Wi E FIWTE | HH(m3) | HRER TR i (m2) ER FHR EHi(m2) & FHR Efi(m2) & FHR Efi(m2) & PR i (m2)
+151.5 0.00) 0.00] 0.00 0.00) 2.80) 0.00 0.00 0.00) 0.00 0.00 0.00 0.00) 0.00! 0.00 0.00 0.00) 0.00] 0.00 0.00 0.00) 0.00] 0.00
No.0 +173.0 21.50] 236.50| 118.25 2,139.25 12.40] 7.60 163.40 18.60] 9.30 166.62 4.90 2.45) 52.68 0.00 0.00 0.00) 24.10 12.05 259.08 32.00] 16.00] 344.00
No.0 +194.7 21.70] 262.70] 249.60 4,410.51 0.00) 6.20 134.54 18.50] 18.55. 335.27 0.00 2.45) 53.17 0.00 0.00 0.00) 30.80 27.45 595.67 27.00] 29.50 640.15
No.0 +212.7 18.00] 182.20 222.45 3,195.00 0.00) 0.00 0.00 18.50] 18.50: 277.20 0.00 0.00) 0.00! 0.00 0.00 0.00) 19.80] 25.30. 455.40 23.60] 25.30 455.40
No.0 +2217.7 15.00] 146.90 164.55 1,991.25] 0.00) 0.00 0.00 18.60] 18.55. 231.75 0.00 0.00) 0.00! 0.00 0.00 0.00) 15.50] 17.65 264.75 17.70] 20.65 309.75
No.0 +246.7 19.00] 132.80 139.85 2,238.20 0.00) 0.00 0.00 21.00] 19.80: 317.30 0.00 0.00) 0.00! 0.00 0.00 0.00) 8.10] 11.80 224.20 15.50] 16.60| 315.40
No.0 +269.6 22.90] 34.90 83.85. 1,746.13] 0.00) 0.00 0.00 7.20) 14.10 287.39 0.00 0.00) 0.00! 0.00 0.00 0.00) 0.00] 4.05 92.75 0.00) 7.75] 177.48
At 15,720.34 297.94 1,615.53' 105.85 0.00) 1,891.85! 2,242.18
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